2014 ool 17 ool N251-9 bgandng3eegengdslionsh

dgmobbdgds N2

d. mdogrolo i-/{- --['a--—- 2014 §gero

0ol dbMog Gobogsb Lagdgomes Ladobobdmm, Fomdmoanbogo Lagobsbbm-bsdgm®mbEam H3sM@GHedgbE0bL
0MqJEHMMOL dmaanol MsdeH Bobusl baboo s Bgmmgl dbMog 83L ,,35memmo” Fatdmeagbowmo
©0M9dBHMM0L 3mds atMds0dol Laboom, 3dmddngdo My bddsmggaml dmddgo 396mbagdermdols
IqLodsdobo 2014 Ganols 17 BomGHl a@ndeyem N251-9 bnwmdgimvegdol d9-8 dubarol 8.3 34bd@ol
056sbdsgo 3ox3m™Andon Fobsdondatg nmabbadgdsls:

1. mEoogmmdgmebbdgdol  Lsgwdzgerbg  bgardgyfmengdol  xsdMmo  woMgdwagds 1275
(salim®alilisdmaembymdn@o) mato 89domEnl 987.50 (bMsslimmbdmsdzoo et s
50 oo0) Eaoo s 89sa0bml 287.50 (mMalmmbdm3sd300 smo s 50 mgm™o) grsto.

2. §obsdgogdstn 8gomobbdngds dsansdo Bgnls 58 Ggmabbdgdol mszdo domomgdwao maMonogsb.
3. fobsdgdaty Tgmsbbgdds Fomdmopgbl 2014 forolb 17 domGHL  gogm®dgdmer  N251-9

598730 gd0b 3obrIymEge Boffoenl.

fobsdgdaty Bnomobbdgds dgpqboeos mabsdado ovdoommo dogrol ddmby Lsd 0YbEY®
03983 GM5C.

D e °’ \ /R

: TR ‘r‘_‘\ b 4 & g

993Lyoagwo d0dfmegdgmo
3L LaggoBablm-badgm®Bam g3oMEedgbEOL 33l ,,35qmovy0"-ls
@oMnJEHmMol Imaanang 0MYJEHMOO
e e
ad R VI NN
585% BoBmy 3B SSHBAdRTOLN
| M* i Sodhduach Nel




293939600 Bgmsbbagdol mgdol Jommdydl s BodfmEgdgmmsb obEgegbms 3mbrmog®do o6 godymaadom
»babgedfogm Ggbyocogzggdol Ggliubgd” bads®mggmml 356mbols 89-8 dyrbamolb mebsbls

BLL bygzBsBLM-LdgBYM Y35 EHBgBEHOL
@oMdBHmcol dmaaow

L=

o.6oBus

BLL BsnBosenM-Bgdbogmmo MBMMEZgynaol,

domagoMo bsddsGogg

0.0505830¢0

3bL babgdfonm gbyowggdol LsddsGmggerml
Ho@ebol dmsEpne)

5. 330330

3L Bon@osem®-Bgdbogmmo mbembggwymgol
Boogsmo Lsddsmmggermlb dmdsaggdol
bsdbabyMOL WMEGMbo

~ 2.80f3d9

BLL Labgdfonm gbyogzgdol

bsddsMonggeml byerdgammagdol wbOnbggymazol
aBymgoegdol MeGdmbo

£ -;g- Ja/4 0. ¥8E0SYMO

BLL babgedfonm Bgbyoggdol byddsmmgzgermb
§ady3o60 L3ggoseobdo

6.2y bogmsdy

Sy



0w RPlyods
ﬂ_.\__c.tm..ag%: 1ee

:gedowqe soeIelawlpop

. A._Dmcm.m Q,epeW

Comularewp noww@lyoss
10Qlpe @ueelds wlguwllpeq-wqgegoben g,

geaiowgp soasGBasohplp,

o & <
2 2 = 05°L8T Doy
=] 2 =
g3 83z
3 3 & o R
L = &S o 3
33 e A/ o
. 2EE 0S'TlI 00t $'T e (09Ccdeq) cpobE 0adlwoth z
o, C o
% g 28
5 2 g B
2
£ iR 00°L1 00°SE S £ (0BsQe0 adLigofg) sROEP _
2 S
o vweed
00 o (oe) S ;
? 5 ¢ cww ¢ egbanliolyod osetb cowglawey | eglidopwyge? . Nt i N
foelaiwAup soglasw fop opet oAl 0wlPogfCQ ¢ celaalgeneds noadgufen
Oez0@98) 1020958
WQSJQ%QH“@%JOW_QDQ. wo IST—N. [t} 1 nﬁcyb 10T [N Cs_.vun_mﬂwu




